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TRIGONOMETRIC FORMULAE

Right Triangle Oblique Triangles
" Solution of Right Triang},es

2 a a il
For Angle A. sin =—c-,c05= , tan= g,cot =;,sec— 5 cosec = =

= cotB,o=\/a’+52=a1/1+Tz:

=cos B, b=\/(c+a) (c—a, =c\/ ::
A4, a B, b ¢ | B=90°—A,b=acotd,c=

Given Required
a, b A, B, | tand=

S8 o8 o]

a, ¢ A, B, b sind =

a
sin A,
Ab | Ba ¢ B=90°—A4,a =btan A, c=

cos A.
Ac {Bab!| B=90°—4,a=csind, b=ccosd,
Solution of Oblique Triangles
Given | Required l asin B " asin O
A, B,alb e C | b= sinA,0~180——(A+B).c—- g

bsin 4 o asin O
Aab |Beo | sinB="220=180°—4+B)c= "3 F

- 1
@8 0| A Bo| A4B=180°—0C,tan }(4—B)="" b“:“+ bA+B),

_ @sin [
T sin A

=)

,sin%Az\ 38 "

A4 BC| szﬁi'_;_tf

sin §

B:\/(@,0=180°—(A+B)

ac
a, Area ‘ 5=ﬁj‘_;'*_'0' area = A/3(s—a) (8—70) (6—c¢)

besin 4
Area area = =

2

B.Cal A _ a*sin Bsin O
A,B,U,a| Area area > sin A

| !
REDUCTION TO HORIZONTAL

Horizontal distance=Slope distance multiplied by the
cosine of the vertical angle. Thus: slope distance =319. 4 ft.
Vert. angle=5° 10’. From Table, Page IX. cos 5° 10/=
9959, Horizontal distance=319.4X.9959=318.09 ft.
Horizontal distance also=Slope distance minus sloge
distance times (1—cosine of vertical angle) With the
same fiElttu:es gs in %hec prpce(éionl%Iexsg?aplle, the fol})gz—
Hori i ing result is obtained. Cosine =, L 1—. =, .
orizontal distance 314 ;¢ 0041 =1.31. 319.4—1.51=318.09 ft. i
When the rise is known, the horizontal distance is approximately:—the slope dist-
ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

slope distance=302.6 ft. Horizontal distmce=m&—-2%<—w;;=me—o.32=m28 ft.
/
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